EAGRAROBREERT — 2 N— ABISH —F 2020751980 (H) 8mE{Z&E4H

m%@%friéﬂiﬁ‘\ #5%R3KLEOP (w8 | mEmml - |5 5 o 8
[A&4£] 1 7% :2,500,000 @ 23 :750,000 @ . 33 :400,000 § 4 3% :200,000  ~ 5 3% :150,000 [
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
2 D s 3 | AllES 1:26.9 5-5-5-3 | 37.1| — 3 465 | FIIRF (£E)
115]5 IXpTw 52.0 (=) +7) EHBE
L:b—€>TS54 b Bib—trEL=FT7 HE EAR
. . R A 7. 01— 2| = REAE (EH)
2 3| N\vE=NyE- % 5 54_01— 1(237)5 2-2-1-2 | 39.2 2 ig iy i
NV ZRB—3IZZ2%Z— B:kyad-—21Z/—-2X =t e
SIS s pe 4 8 | HPH 1:27.6 3-3-2-1 [39.3| — 1 520 | =/EBEA (EH)
3|5/6| KZ3>T—+ 56.0 (1/2) (15) | FAEX
LA 39K -5— B:T21-02147—-> BT THhIHS
e # 5 | EBIERE 1:28.5 4-4-4-5 [39.2| — 4 495 | BEBTTIB (1£H)
4 4|ArT1TZR 56.0 ®) (1) | ERteEE
LY IRG4 TR B:TUEIFI— AHHE ERXR
; 7 =iE 1:28.8 7-7-7-7 | 37.8| — 9 499 | REM (£H)
sfe | /N7 LIRE—S L 56.0 (11/2) 43 | ) HIa-KL—va>
A2 Y E—Y BTXFr—F EESS
3 RHEEC :28. -9-8— X = hEFE (1£8)
6 7|\ F1hT=< 3y R 56.0 }72?:? 10989 | 37.3 ° (‘?14) T
RL:ihixz— B:nFIXILY NS
- _ IR . o3 _ LRIkt (1)
7l8l11| TRz =5 - Gy | Tl O |
Z:A—-FMNUFZX B:OXEXFvOY-—X R 77—-L4
S 47 | HKIEA 1:29.0 6-6-6-6 |38.4| — 7 519 |REM (&%)
EE ) 14 56.0 (1/2) (-5) ShaE—
X140 B3R =SR2 e ]
S D 4 9 | MK 1:29.3 8-8-9-8 |37.8| — 10 | 443 |9FHBRZ (£E)
911 NIVEZ M FA b 54.0 (1 1/2) (-6) MEER
L=/ F¥LLy b B:XE—U—F1 NIVEL N 77—
o I &% :30. -12-12- . — KHAx (£8)
1wlzl9| 77y 877l R 1%’)4 R b ’ f_g M
L:v—NRFXH>F— B hETU-— AH BE
Y5 4 o8 | WTHE 1:30.4 12-11-11-10| 38.6 | — 12 | 498 | B (£H)
17|10 ¥ 7N/ vFA 5.0 (757) 1) |
SR RN=32TR—L B:YFNEK-T At FEER
oo ; it 6 | RBRZ 1:30.9 9-10-10-12 [ 39.1 | — 1| 502 |=BEFEAN (ERK)
12/8|12| Y2 > XHILT 54.0 2 1/2) Cry |AEH=
L:2%— k770> BESIH-—4— BORMS
® I —F—@EBIERL
==F= 11,3,6,4,5,2,8,1,12,7,9,10
23—+ — 11,3,6,4,5,2,8,1,7,12,10,9
Gal=7r= 3,6,11,4,5,2,8,7,1,12,10,9
43—F— 6,3,5,11,4,2,8,1,7,10,9,12
[ RN
B OB 5 850M 714K 3-5 200M e & 3-5 140H 3ER 3-5-6 210M
7 B 5 120 5-6 1500 | | BB & 825 2,110 | | 3EE 5-3-6 7,750M
3 1004 3-6 100M B H 5-3 4,870M
6 100M4

ARICOVWTRDTEEERROODE. TR LI,



